
REPLACEMENT PARTS

Please do not contact the company purchased from as we can help you faster.
Order replacement parts and hardware at " www.boltonfurniture.com "

www.boltonfurniture.com

12

3

1

2

4

5
67

8

9

10

11

60 minutes

. Use of power tool to assemble this
product will invalidate any claim and
damage this product making it
unsafe !!!
. Please assemble on a clean soft
surface to avoid damage.

1 of 11 ANLO3033 Hall tree with Bench

Hall tree with Bench

Tools Required

03/03/2022

(Not included)(Not included)



2 of 11 ANLO3033 Hall tree with Bench03/03/2022

28
M6*20mm Bolt

O

Identifying the hardware-Identify the hardware using the illustrations below

07
Ø4*15mm

Q14
M6*40mm Bolt

P

02R

26

T 06S
Ø4*15mm

ANTI-TIP
01U

B

A

E
C

I
H

D E

G

G

L

N

J

M

K

K

F

M

02V
Ø19*Ø6*1mm

www.boltonfurniture.com

L

Part list - Hall tree with Bench

24
M6*15mm Bolt

W



3 of 11 ANLO3033 Hall tree with Bench03/03/2022

Step 01 05Q

01V

M6*15mm Bolt

C

G

G

E

www.boltonfurniture.com

Step 02

D

C

VQ

05Q

01V

M6*15mm Bolt

V Q



4 of 11 ANLO3033 Hall tree with Bench03/03/2022

Step 03 01Q

01V

M6*15mm

www.boltonfurniture.com

Step 04

B

E E

E

E

D

D

C

C

V Q

01Q

01V

M6*15mm

V Q



5 of 11 ANLO3033 Hall tree with Bench03/03/2022

Step 05 04T
Ø4*15mm

www.boltonfurniture.com

Step 06

A
F

T

(Not included)
01

06P

01V

M6*40mm

A

B

C

VP



6 of 11 ANLO3033 Hall tree with Bench03/03/2022

Step 07

www.boltonfurniture.com

Step 08

14O

14U

M6*20mm

04R

Ø19*Ø9*1mm

V O

U

01V

I

H

(Not included)
01

Ø4*15mm

Q
I

H



7 of 11 ANLO3033 Hall tree with Bench03/03/2022

Step 09

www.boltonfurniture.com

Step 10

06P M6*40mm

01V

J

K

L

L

02Q M6*15mm

J

K

L

L

M

V P
U

01V

V Q



8 of 11 ANLO3033 Hall tree with Bench03/03/2022

Step 11

www.boltonfurniture.com

Step 12

M

M

04Q M6*15mm

02P

01V

M6*40mm

K

L

L

K
J

M

M

06Q M6*15mm

01V

V Q

V P

V Q



9 of 11 ANLO3033 Hall tree with Bench03/03/2022

Step 13

www.boltonfurniture.com

V O

U

R

12O

12U

M6*20mm

03R

Ø19*Ø9*1mm

01V

(Not included)
01

Ø4*15mm

N



10 of 11 ANLO3033 Hall tree with Bench03/03/2022

Step 14

www.boltonfurniture.com

02O

02T

M6*20mm

02S

01V

(Not included)
01

R

O
T



"O" Anti-Tip

Plastic wall bracket
C 04

Nylon strap 140mmD 024x35 ScrewB 04
4x15 Screw

A 04

Secure to Stud behind Wallboard

Secure to back of Furniture

A

A

C

C

B

B

W
A

LL
B

O
A

R
D

W
A

LL
B

O
AR

D

DF

D

Secure to Stud behind Wallboard!

S
tu

d
S

tu
d

www.boltonfurniture.com
11 of 1103/03/2022 ANLO3033 Hall tree with Bench


	1.pdf (p.1)
	2.pdf (p.2)
	3.pdf (p.3)
	4.pdf (p.4)
	5.pdf (p.5)
	6.pdf (p.6)
	7.pdf (p.7)
	8.pdf (p.8)
	9.pdf (p.9)
	10.pdf (p.10)
	11.pdf (p.11)

